Changing the Subject #2

Rewrite the following so that x is the subject.

1. y=3x-2

2. 4x+y+2=0

6. 2x+3a <4

7. 3x-y)=z

10. y+ 2 = 3x?

11 _Z+5
- Y= 3x
4
12. k+2=\/—;
13. Jy=vx+1-5
14 _ X+ 2
. p= 3
3sin~1(x
15. k=T()

16. b = 5a - 2x?



Answers for Changing the Subject #2
y+2
4

There are sometimes multiple ways to write the answer - for example =(y+2)+4

The answers here will use a fraction format, which is the best in most situations.

y+2
1) y=3x-2 = y+2=3x = x ==
2) 4x+y+2=0=> 4x=_y_2 = X = ”
y—2 -y+2
3) J7‘5X=2 = y—2=5x = X = or x = —
3x+4 5y — 4
4) y = s = 5p=3x+4 = 5-4=3x = ¥ = ;
X x
5) y=;—5 = y+5=§ = x=8(y+5) or x=8y+40
4-3a
6) 2x+3a<4 = 2x<4-3a = x < >
z+3y z
8) y=x*-z = y+z=x? = x=%/y+z
9 —5+ = _ 5 = =5 = __S
) Y T y-a=<v x(y—a)= x_y—a
+2 +2 +2
10) y+2=3x2 = yT:_xz = x::l:\/ 3 or x=:l:(y3 )1/2
1) y=212 >  3y=z+5 = ) =z+5 >  x=2
) y=—22 Xy =z x(3y) =z x==
12) k+2=—= = Vx(k+2)=4 = \/_——5 = = ( > )2
) R x(k+2) = e x= (G

13) Jy=vx+1-5= [fy+5=vVx+1 = (Jy+52=x+1=> x=(Jy+5)32-1

x+ 2 X+ 2
14) p= = p? = = 3p?=x+2 = x=3p?>-2

3 3
3sin™1(x 2k 2k
15) k= T() = 2k = 3 sin"i(x) = 5 sin"}(x) = X = sin(T)
5a—-b 5a—->b
16) b=5a-2x2 = 2x2=5a-b = x2 = > = x=:l:\/ >

b —5a b —-5a
but also > b-5a=-2x2 = x2 = > x= ﬂ:\[



